I CHEVALIER =

IR 2003 & 6|5 [!
H A B - B R

(CFFT EFAL T Fﬁpg@:&)tu BRE L ) (T [ES«I[S%J ) (025)wHH *[iﬁiq&
EJ[S“LXFJ CTHA R ;) (508) 4 F IR R H[*’\F{ el \fJEJE[Iﬁ%VJqVE{' ¥

4B A 1 SEJ&JEJ&N};’I?%WIO 257 '/$‘?J°'é§ﬁb[éﬁ g ALY > IQQJ
qg]},@%ﬁm% RV E o [ H AR #}[«Vﬂ P 1 5 AR E PR e 0.10 v IV RE =158
,ﬂyﬁ[ﬁé, T F[Iittf 1EJQJEJQPII};’|3%LJ*MO 50 7 I F o F[@&ﬂu S Y e T
[J;.\}éjktfr, 52000 18 >y E B TE ST E.fEf{ﬂ“ B = 4000 3% -

BT > 752 FIRIERTE 2 Al Er g f+*vr"z~.'fa’%mﬂ'rfﬂ Pl AEE
il » Ry Vo o i [liﬁﬁ@}{jﬂ DTl B B G| S
E‘wﬂa VAR E LA s B RS e A R (A

i G LTS TRTLe R o T

YR FES 5 S S B RO D RS L [
2,000 JE 4 BIEEERILAE 7 o oy A R vya&gqu 5= RARHT A £, 4,000 B 4 R ERE
LT N R/ ?H I i i el AL T R A T
B EIf PUEIR)E o H R B R[BTSO A IR 0 )
H A IR E D) R flﬁ&“%”v* dRERGE D VR RRUS TR ] R T
B (SR L 32

F A RS R U R 2 O R H F]T’E}i 2 U AR A TR -
A R R b%i @3% B % 4% A AT PR A
Baagﬁ/mff H A R It i Vﬁuy A ?ﬁ B0 SRl

ﬁwbﬁﬁﬁw @’w %fﬁﬂr%wo W% bﬂ%@£j¢|$

bﬁh_f %]TJFJ
- -



